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QUESTION 1

What does it mean when a classifier rectangle is labeled as an ? 

A. The list of all public and private features is provided. 

B. The classifier is an iterator for traversing a collection. 

C. The list of all public and private structural features is suppressed. 

D. The classifier is a data type whose values are possibly listed in the bottom compartment. 

Correct Answer: D 

 

QUESTION 2

In the exhibit, what are all of the classes required by A? 

A. B 

B. B, D 

C. B, C 

D. B, C, D 

E. B, C, D, E, G 

F. B, C, D, E, F, G 

Correct Answer: E 

 

QUESTION 3

The instance diagram in the exhibit contains father and son without underlines. What is the meaning of this? 
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A. The Don class is a superclass of the Josh class. 

B. An association having end names father and son. 

C. The diagram is a mixture of class and instance diagrams. 

D. A link of an association having end names father and son. 

E. The names are incorrectly specified, because underlined names are required. 

Correct Answer: D 

 

QUESTION 4

What constraint applies to a stop in a UML interaction diagram? 

A. Only one stop may occur in one interaction. 

B. No other event occurrences may appear below a stop on a given lifeline in a simple interaction. 

C. If there is a stop on one lifeline, there should be stops on all other lifelines within an interaction. 

D. If one lifeline has a stop in one interaction, it should have stops in every interaction that itappears. 

Correct Answer: B 

 

QUESTION 5

What does the symbol in the exhibit represent inside UML 2.0 activity diagrams? 

A. pin 

B. port 

C. place 

D. entry state 

OMG-OCUP-100 PDF Dumps | OMG-OCUP-100 VCE Dumps | OMG-OCUP-100 Exam Questions                               3 / 4

https://www.passapply.com/omg-ocup-100.html
https://www.passapply.com/omg-ocup-100.html
https://www.passapply.com/omg-ocup-100.html


https://www.passapply.com/omg-ocup-100.html
2024 Latest passapply OMG-OCUP-100 PDF and VCE dumps Download

E. parameter node 

Correct Answer: A 
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